ok % % %

X % ok b %

SFU R R TR

10

RIRLZIT B R

Qi 7L
(Oil hole)

Z

5
-5

el
o
=
3
=

B :mm

| S| %k 208 R~ HEE | BEE

S le|r| e | w
d| || Da|D|A|B|LIW]H|X Q n @z Coa

SFUR1204-3| 12 | 4 | 2.5 | 24 | 40 | 10 | 40 | 32 | 30 | 4.5 | Méx1 |1x3| 451 | 709
SFUR1604-3 % |2381| 28 | 48 | 10 | 36 | 38 | 40 |55 | M6x1 |1x3| 488 | 940
SFUR1605-3| 16 | 5 |3.175| 28 | 48 | 10 | 42 | 38 | 40 |5.5 | Méx1 [1x3| 666 | 1143
SFUR1605-4 5 |3.175| 28 | 48 | 10 | 50 | 38 | 40 |5.5 | M6x1 |ix4| 888 | 1525
SFUR1610-3 10 [3.175| 28 | 48 | 10 | 57 | 38 | 40 |5.5 | Méx1 [1x3| 716 | 1232
SFUR2004-3 4 |2.381] 36 | 58 | 10 | 42 | 47 | 44 |6.6 | M6x1 |1x3| 541 | 1187
SFUR2005-3| 20 | 5 | 3.175| 36 | 58 | 10 | 42 | 47 | 44 | 6.6 | M6x1 |1x3| 749 | 1495
SFUR2005-4 5 |3.175] 36 | 58 | 10 | 51| 47 | 44 | 6.6 | Méx1 |1x4| 999 | 1994
SFUR2504-3 4 |2.381] 40 | 62 | 10 | 42 | 51 | 48 |6.6 | M6x1 |1x3| 605 | 1534
SFUR2505-3 5 [3.175| 40 | 62 | 10 | 42 | 51 | 48 |6.6 | M6x1 |1x3| 839 | 1935
SFUR2505-4| 25 | 5 |3.175| 40 | 62 | 10 | 51 | 51 | 48 | 6.6 | Méx1 |1x4| 1119 | 2581
SFUR2510-3 10 [4.762| 40 | 62 | 10 | 70 | 51 | 48 | 6.6 | M6x1 |1x3| 1427 | 2771
SFUR2510-4 10 [4.762| 40 | 62 | 12 | 85 | 51 | 48 | 6.6 | M6x1 |1x4| 1903 | 3695
SFUR3205-4 5 |3.175|50 | 80| 12 | 52| 65 | 62| 9 | M6x1 |1x4| 1264 | 3402
SFUR3210-3| 32 | 10 | 6.35 | 50 | 80 | 12 | 74 | 65 | 62| 9 | M6x1 |1x3| 2319 | 4575
SFUR3210-4 10| 6.35 | 50 | 80 | 12 | 90 | 65 | 62 | 9 | M6x1 |1x4| 3092 | 6101
SFUR4005-4 5 [3.175| 63 | 93 | 14 | 55| 78 | 70 | 9 | M8x1 |ixk| 1407 | 4341
SFUR4010-3| 40 | 10 | 6.35 | 63 | 93 | 14 | 71 | 78 | 70| 9 | M8x1 |1x3| 2610 | 5834
SFUR4010-4 10 | 6.35 | 63 | 93 | 14 | 93 | 78 | 70 | 9 | M8x1 |1x4| 3480 | 7779
SFUR5010-4] 50 | 10 | 6.35 | 75 | 110] 16 | 93 | 93 | 85 | 11 | M8x1 |1x4| 3898 | 10325
SFURé310-4| , " 10 ] 6.35 | 90 |125] 18 | 98 [108] 95 | 11 | Mex1 |1x4| 4401 | 13611
SFUR6320-4 20 | 9.525| 95 | 135| 20 | 149|115| 100[13.5] M8x1 |1x4| 7404 | 19008
SFUR8010-4| | 10| 6.35 [105|145] 20 | 98 [125]110[13.5] M8x1 | 1x4| 4900 | 17366
SFURB020-4 20 | 9.525 125 | 165| 25 | 154|145 | 130[13.5| M8x1 |1x4| 8403 | 25345

£33 AFOEWIES ETHELERL.




